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However in Golil he can claim — YUY XM Dowas DaN

OVERVIEW

noY 21 attempted to derive from a 7awn that 5" NIYY can be used 7N2ND 77°0977.
The mwn states that there is no 2°212 NWY in 777 (since it was customary there
for the 11921 1nn to be 77°°nn), indicating that in 9°23 (or elsewhere) there is a niyy
0°71n2. This mwn cannot be referring 1%y 7707 for then even in 777 there should
be o°71n2 niwv. Obviously the mwn is discussing N2> 77°097% and he is aX2
(presumably) even by 5"5 niywn. Our MdOIN challenges and discusses this proof.

nooIn asks:
= 9953 NDY 1P0I19°RA NPDY XAV 91990 NIANI N2 NNDT 15D NI 9NN ON)

And if you will say; how does 701 27 know that he is believed 7n21n5 1770975,
perhaps what the 71wn means to say is that in 777%7° the woman is believed to say
that he had relations with her while she was an 7919 (and therefore there is no
TN2ND 17°0972 D°7IN2 NIvY, since it is customary for them to be together), but in

B993 she is not believed to say that 1017°X2 7°9 X2 (since it is not the custom); this is regarding

her claim of 7°9¥ X2 where there is a difference between 7717 and 7773 -
= N1 993 99933 91PN NN MMV Yan

However when she claims ‘I was a 703’ at the time of PR, perhaps she is
believed even in %993 and he cannot be 7097 her 72103 ever, if she claims >n*7 79102.2

Nv0IN answers:
- 2193y 593 BY9INA MYV PYLY 9195 1IN 7Y YPYNT 9 YN

And one can say that it seems to 101’ 27 that the words 2%%n2 nipw PYu? 9120 WX

in that mwn» means that in 7797 he cannot claim 2°9102 NIWY in any manner at all -
= Ny DIYI NND NIVINY )22 1P01IRN )1 IIJY NAY NINDINY )2

Whether she counterclaims that 3217987 3% %Y X2, or whether she counter-

claims that he found a v nn2 (she was still a 771n2), he is not believed. Moon explains -
- 11 NIYT 95932 KDY “9Y N3 1PDIVIND NN NOYA INT 1) MNNI NNNYAT

! There is therefore no proof from that 73wn that 2" nvw is believed 7NN 7770979, Therefore it was necessary for
SR1W to teach us that 5"5 Navw is 702D 77°09:72 TARI.
? See “Thinking it over’ # 1.
? If the 7awn meant that he is not believed only when she claims *7¥ X2 but not when she claims *n™7 77102 (as '01n
maintained in the question) the 771wn should have specified that, so that there be no mistake.
* When the mwn states 7y T NHw *191 29102 NWY 7wYY 9120 R it does not mean that he is not X1 only if she
claims "%y X3, but even if she claims N7 77102 he is also not 1aX1 since she has the 12 of ">V Xa.
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For in ;1797 she is believed to claim even °n»;7 79102 since she has a 1a» that she
could have claimed :79%¥ X2 7°917°K2; however by »°9x she is not believed to claim
even °N*1 77102, since she has no % of *y X2 o1 X2 (for that is not the custom in 2°93).

nvon asks:
= NYINI MINNRY 1Y 1My Sx‘pvm "7 NVP Yan

However there is another difficulty; for 701 27 brings his proof (that "5 nivy is
7n21n3 770977 12X1) from an inference (in the 73wn of Y31 A7 AN DER ),

but he should have brought his proof from the X9 of the mwn» (without resorting to

an inference) -
- 61’513‘\: NMIYL )Y YW 910 PODIVINN 119 NINONR NDINA (3,2 97 10pY) 2INPT

Where the mwn states, ‘a 702 who is an m»bR from the PoI1R, ete. has a

712102 of o’ nX», and they have 2%1n2 niyw -
- PSINA MYL 1Y YW 1) "PRIVIN 112 199X 15Y NIDINDT '599R 1IN 19385 TH9 I

And perforce you must say that the 0°71n2 nivv in that mwn is regarding 717°0977
7n21n3, for regarding »hy 77170 there is 2°71n2 niyw even if she is a 2 79102
PRI, MooIn explains and proves that there is %Y 7701RY 2°71N2 NIV even by a » 79102
PRI -

SNHMT PHNH NIAY YIN 9‘["1&‘1 (8,2 97 APY NINIT NHINA NPINA NDIFT S
For since he took her in 772 npina, therefore there is 19Y 7701RY 2°7I02 Navy,
and as is evident later where the X 1) asks regarding a PXWIn 12 7202, ‘and let
us be concerned that perhaps she was 71t» while she was no9I8% to him’. It is
evident from the ensuing discussion'® that there can be 1%y 77018 2°21n2 NIy even by a 12 79102

1XWIn. Therefore we must conclude that the term 2°71n2 Nvw in these two N1wn are referring
7n21n3 77°0977%. The question remains why 701 27 did not bring direct proof from these nyiwn

5 Ao 27 infers that since in 777 he is not believed we can infer that in 9°23 he is believed; and this inference is
questionable as N1901N pointed out in the initial question.
® The mwn there states that an 7Im5X or 7w3 from the 71X (there was no 1XW1 yet) who is a presumed 77102
receives a full 72103 and the husband can claim 2°71n2 nwv as if she was never even an 701X, There is another 7awn
(on §,%°) that an PRIT 1 WA 798 who is a presumed 79102 (she was only 779117 170191 [making her a 7xw1] but
m9Y21 RY [retaining her 79102 status]), nevertheless 7in2N3 is only a 73 and there is no 071N NIvw.
7 He has 29102 nivw regarding her 72102; proving that he is 12X3 with 2202 nvw (including 9" niyw) 7NN 717°00:7.
8 This is referring to a PRI 1 77102 (see footnote # 6), where the mawn states (2,%°) that 2°71n2 niwv 1772 PR. This
cannot be referring to 19y 7107, for since he married her 7232 npma, why should he not be 19y 770K aR1.
Therefore we should conclude that just like the 2°71n2 nwv of the ®9°0 regarding 1XW37 1 7702 is referring to
7n21N5 77°09:7, similarly the 0°21n2 nivw 77 W of the Xw 1 regarding 101K 11 MIN9R 7702 is also referring 77°09:77
an2no. See ‘Thinking it over’ # 2.
? See mpoIn there wiren 71"'7 for a detailed explanation of this question, »"2X1.
19 %27 21 there explained the reason we are not concerned 7inXt PNAN XAW is because he was XY Sy wp. It is
evident that if it was not In%&> 5v21 WP there is the concern of n°T "NNN XMW so there is 1°HY 770D 2°21N02 NIWL.
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that by 5"5 n1yv he is NN 7770977 X1 NN does not answer this question. '’

SUMMARY

In 7797 he is not believed for 2°21n2 ni1vv whether she claims ?Y X2 or °n*77 77102
(with the 1 of "%y X2); however in 973 he is always believed even if she claims
N7 77IN3; proving that 70215 77°0977 1a81. We could prove that 77°097% 1K1
720> from the NPawn regarding a POV 12 MINOR 77302 or PRIVIT .

THINKING IT OVER
1. According to mooIn question that in 993 she is believed to claim *n»7a 72103,

why should she also not be believed to claim *%¥ X2 P0I1°R2 with a W of 777102
5n”n?13

2. Mmoo proves that the 7awn of "1 mInHR A7n12 is discussing 021D 77°057
because 17y 770> would apply even by a mxwi1.'* Why could not moon prove
that it is not 1Y 770> from that 73wn where it also mentions a 7%1917 791122 The
only time where he is 1°9¥ 770IX? 1281 is if she is either an 172 nwX and Mnda TwTPNI
'\ (for otherwise she is NN since it is a XpP o0 p‘.‘)t)).15 However this mawn of 77102
7¥1%1 121 cannot be discussing an 372 WX, since a 372 is 7X19n2 MK, and it cannot
be discussing a mvp since there is no 7%°21 by a m1vp. Therefore the 0°91n2 NIwY can
only be an1n3 77ooH! '

3. In mooin first question, what changed in our understanding of the 7awn ( 7218
121 1 9ER) between the question of NMvoIN and his answer?

' See 7w 0"~An who offers an explanation.
12 See footnote # 2.
3 See p"nvrw and " 0"mn.
14 See footnote # 8.
15 See the X3 on X,v.
1 See X"y1 and (LN 7"7IN2 R,2° 1pY) 2.
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